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I Question paper consists of 100 questions. (91 &3 # 100 99T &1)
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Il Each question carries 01(one) mark. (Y@ 921 01 (Ua) HEFTEN
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1. A car covers its journey at the speed of 80kmv/hr in 10hours. If the same distance is to be
covered in 4 hours, by how much the speed of car will have to increase?

a. 40 Km/hr b. 60 Km/hr c. 90 Km/hr d. 120 Km/hr

!‘J

A person walking at 4 Kmph reaches his office 8 minutes late. If he walks at 6 Kmph, he
reaches there 8 minutes earlier. How far is the office from his house?

a. 3*1/5 Km b. 2*¥1/5 Km c. 4*¥1/5 Km d. 5%1/5 Km

3. An express train travelled at an average speed of 100 km/hr, stopping for 3 minutes after
every 75 km. How long did it take to reach its destination 600 km from the starting point?

a. 6 hrs 27 min b. 6 hrs 24 min ¢. 6 hrs 21 min d. None of these

4. Walking at the rate of 4 kmph a man cover a certain distance in 2 hr 45 min. running at a
speed of 16.5 kmph the man will cover the same distance in.

a. 12 min b. 40 min ¢. 50 min d. None of these

5. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4
km/hr, find the time taken by the boat to go 68 km downstream.
a.2 Hrs b. 3 Hrs c. 4 Hrs d. None of these

6. A man can row upstrecam 10 kmph and downstream 20 kmph. Find the man rate in still
water and rate of the stream.
a. 0,5 b: 5,5 c. 15,5 d. None of these

7. In one hour, a boat goes | 1km along the stream and 5 km against it. Find the speed of the
boat in still water

a. 6 Km/hr b. 7 Kn/hr c. 8 Km/hr d. None of these




8. A boat moves upstream at a speed of 12km/hr and covers a distance of 144 km. If, the rate

of flow of the stream is 4km/hr, the time taken by the boat to move downstream 1S
d. None of these

a. 6 hrs 24 min b. 7 hrs 12 min c. 8 hrs
™ . . . 0, 4
9. The percentage increasc in the area of a rectangle, if each of its sides is increased by 20% is
c. 42 % d.44 %

a.32% b. 34 %
10. What will be the cost of gardening I-meter boundary around a rectangular plot having a

perimeter of 340 meters at the rate of Rs. 10 per squarc meter?

a. Rs. 3430 b. Rs. 3440 c. Rs. 3450 d. None of these

I'LIf the length and breadth of a rectangular room are cach increased by | m, then the area of
floor is increased by 21 sq. m. If the length is increased by 1 m and breadth is decreased by

I 'm, then the area is decreased by 5 sq. m. The perimeter of the floor is

a.40 m b.32m c.36m d. None of these

12. A metallic sheet is of rectangular shape with dimensions 48 m x 36 m. From each of its
corners, a square is cut off so as to make an open box. If the length of the square is 8 m, the

volume of the box (in m3) is

a. 4830 b. 5120
13.1f the length of a rectangle is halved and its breadth is tripled, what is the percentage

c. 6420 d. None of these

change in its area?

a. 25% increase b. 25% decrease c. 50% decrease d. 50% increase

14.In a certain school, 20% of students are below 8 years of age. The number of students
above 8 years of age is 2/3 of the number of students of 8 years of age which is 48. What is

the total number of students in the school?
a. 80 b. 100
I5. A trader mixes 26 kg of rice at Rs. 20 per kg with 30 kg of rice of other variety at Rs. 36

per kg and sells the mixture at Rs. 30 per kg. his profit percent is:
c. 8% d. None of these

c. 120 d. None of these

a. No profit, no loss b. 5%
16. A dealer buys a product at Rs. 1920, he sells at a discount of 20% still he gets the profit of

20 %. What is the selling price of that product?
a. Rs.1159 b. Rs.1550 c. Rs.2304 d. None of these

17.Samant bought a microwave oven and paid 10 % less than the original price. He sold it
with 30% profit on the price he had paid. What percentage of profit did Samant earn on the
original price?
a.17%

18. Sam purchased 20 dozens of toys at the rate of Rs. 375 per dozen. He Sold each one of the
rate of Rs. 33.What was his percentage profit?

b. 4.5% c.5.6%

b. 20% c.27% d. None of these

a.3.5% d. None of these




19. Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectively. Both the
pipes are opened together but after 4 minutes, pipe A is turned off. What is the total time

required to fill the tank?
a. 10 min. 20 scc b. 11 min.45sec ¢ 12 min. 30sec  d. 14 min. 40 sec

20. Two pipes P and Q can fell a cistern in 24 min. and 36 min. respectively. Third pipe R can
cmpty itin 36 min. I all the three pipes arc opened | find the taken to fill the cistern.

a. | hour b. 24 mins c. 36 mins d. 30 mins

21. Average of 10 matches is 32, How many runs one should score in next match to increase
his average by 4 runs.
a. 70 b. 76 c.78 d. 80

22. There are 36 boys and 44 girls in a class. The average score of boys is 40 points and girls is
35 points. Then what will be the average score of the class?
a. 37.25 points b. 28.95 points c. 35.5 points d. None of these

23.The greatest number which on dividing 1657 and 2037 leaves remainders 6 and 5
respectively, is:
a. 127 b. 305 c. 235 d. 123

24.The least number, which when divided by 12, 15, 20 and 54 leaves in each case a
remainder of 8 is:

a. 544 b. 548 c. 504 d. 536
25.How many real roots does the equation have, x*+3x+4=0

a. 0 b. 1 c.2 d3
26. Find the roots of the quadratic equation: 2x* + 3x - 9 =0

a.3,-3/2 b.3/2,-3 c.-3/2,-3 d.3/2,3

27.The roots of the quadratic equation 6x* — x —2 =0 are:

a.2/3,1/2 b. -2/3,1/2 c.-2/3,-1/2 d. 2/3,-172
28.1f one root of the quadratic equation 2x? + kx — 6 = 0 is 2, the value of k is

a. 1 b. -1 c:2 d. None of these
29.The roots of the equation 2x*>+ x — 1 =0 are »

a. Real and distinct b. Real and equal  c. Not real d. None of these

30. The equation 12x? + 4kx + 3 = 0 has real and equal roots, if

a.k=+3 b. k=49 c.k=4 d. None of these
31. Which of the following is not a quadratic equation?

a.2(x—1)=4x2-2x+ 1 b.2x —x2=x2+5

c. (V2x + \/3)2 + x?=3x%-5x d. None of these

32.The side of a cube is 15 m, find it's surface area?
a. 1350 m b. 1250 m’ c. 1300 m? d. None of these




33.Find the distance between the two points(9, 3) and B (15, 11)

b. 12 units c. 13 units d. None of these

a. 10 units
34. A sum of money at simple interest amounts to Rs, 815 in 3 years and to Rs. 854 in 4 years.

The sum is:

a. Rs. 650 b. Rs. 690 c. Rs. 698 d. None of these
35. Width of Broad-gaugc in India

a. 762 mm b. 1676 mm c. 1000 mm d. None of these
36. DLMW name has been changed to

a. PMW b. PLW c. PDMW d. None of these
37.COVID-19 is caused by

a. Bacteria b. Protozoa c. Virus d. None of these
38. Panna national park situated in which state of India

a. Uttar Pradesh b. Rajasthan c. Madhya Pradesh d. Chhattisgarh
39. Capital city of Manipur state is?

a. Shillong b. Imphal c. Agartala d. None of these

40. What is full form of PNR?
a. Passenger Name Registration
¢. Passenger Number Record

b. Passenger Name Record
d. None of these

41.Respiratory pigment in human body is?
a. Chlorophyll b. Water ¢. Haemoglobin

42. Which is the capital of Ukraine?
a. Lutsk b. Sumy c. Kyiv

43. Who was the first Indian woman to climb Mount Everest

a. Kalpana Chawla b. Razia Sultan
c. Bachendri Pal d. Sucheta Kriplani

44.In which state of India most of the Narmada river flows?

d. None of these

d. None of these

a. Madhya Pradesh b. Rajashtan c. Maharashtra d. Gujarat
45. Which planet is nearest to Sun
b. Mars c. Mercury d. Jupiter

a. Venus

46. Who is known as Iron man of India

a. Jawahar Lal Nehru b. Mahtma Gandhi

c¢. Sardar Vallabhbhai Patel d. None of these

47. Who was famously known as Punjab Keshri

b. Lala Lajpat Rai c. Sardar Patel d. None of these

a. Bhagat Singh
48. which part of body is affected by the disease of cataract

a. Ear b. Eye c. Nose d. Throat
49. Largest gland in human body is
b. Heart ¢ Liver d. None of these

a. Kidney




50.Mark Zuckerberg is the founder of

a. Microsoft b. Facebook c. Snapchat d. None of these
51.The colour of human skin is produced by

a. Haemoglobin b. Insulin ¢. Adrenalin d. Melanin

52.The branch of biology dealing with the study of cells is known as
a. Cytology b. Histology c. Psychology d. Physiology
53.1In which of the following mediums speed of sound is maximum

a. Air b. Vacuum c. Steel d. Water
54. What is the chemical name of Milk of magnesia

a. Sodium Hydroxide b. Sodium Bicarbonate

¢. Magnesium oxide d. Magnesium Hydroxide

S5, In vulcanisation process, Rubber can be hardened by adding

a. Sodium b. Sulphur c. Phosphorus d. Calcium
56.Optical fibre used in communication works on which principle

a. Refraction b. Scattering

c. Total Internal Reflection d. Dispersion

57.Which inert gas is used in electric bulb

a. Radon b. Argon c. Xenon d. Neon
58.%Davis Cup” is related to which of the following Games

a. Tennis b. Football c. Volleyball d. None of these
59.The chlorophyll in photosynthesis is used for

a. Absorbing light b. Breaking down water molecule

c. Reduction of CO2 d. None of these
60. Bandhavgarh National Park is located in which state?

a. Maharashtra b. Rajasthan c. Madhya Pradesh d. None of these
61. An instrument used to measure density of milk is?

a. Glactometer b. Lactometer c. Calciometer d. None of these

62. Which State in India has a largest coastline

a. Tamilnadu b. Andhra Pradesh c. Gujarat d. West Bengal
63. Which of the following state is surrounded by Bangladesh from three sides

a. Nagaland, b. Assam c. Tripura d. None of these
64. Which city is referred to as the “Silicone Valley of India”

a. Mumbai b. Chennai c. Bangalore d. Hyderabad

65.“Gulf Stream” refers to
a. A warm Ocean Current b. Strong Air Current
c. Streams joining a Gulf d. None of these



66. Pongal festival is celebrated in which state
a. Kerala b. Tamilnadu c. Karnataka d. None of these

67. Kathakali is related to which state
d. Andhra Pradesh

a. Kerala b. Karnataka c. Assam
English

68. The antonym of the word: Inevitable

a. Mutilated b. Uncertain c. Eatable d. Unavoidable
69. The antonym of the word: Glossy

a. Dedicated b. Obscene c. Dull d. Sleek
70. The antonym of the word: Abundant

a. Ample b. Enough c. Scarce d. Extensive
71. The antonym of the word: Swear

a. Praise b. Deny c. Reject d. Support
72.The antonym of the word: Exonerate

a. Admit b. Accuse c. Contract d. Reject
73.Find the correct word

a. Missile b. Misile c. Missille d. Misille
74.Find the correct word

a. Mattress b. Mattres c. Matress d. Matress
75.Find the correct word

a. Museume b. Musium c. Musiume d. Museum
76.Find the correct word

a. Neighboure  b. Neighbour ¢. Neghbour d. Neghboure
77.Find the correct word

a. Necessary b. Necesary c. Neccessary d. Necessery

One word substitution for following (from Question No. 78 to 87)
78. A sleeping room for a number of people

a. Dump b. Dormitory c. Fireside d. Office
79. Life story of a person written by someone else

a. Autobiography b. Biography c. Democracy d. None of these
80.0One who eats everything

a. Omnipotent  b. Omnivorous c. Carnivorous d. Gourmet
81.Person who looks at the dark side of everything

a. Naturalism  b. Optimist c. Idealist d. Pessimist
82. A person living permanently in a certain place

a. Resident b. Native ¢. Domicile d. Subject
83. An instrument for viewing objects at a distance

a. Kaleidoscope b. Periscope c. Microscope d. Telescope

84. A place for sick people who need long periods for recovery
a. Asylum b. Clinic c. Hospital d. Sanatorium




85. A government that is carried on through officers

a. Dictatorship

86. A statement that is absolutely clear

a. Unequivocal

87.Medicine used to calm or pacify

a. Antidepressant

b. Class-onc
b. Ambiguous c. Confused
b. Fusion ¢. Hypnotic

c. Officiousness

d. Bureaucracy
d. Clean

d. Tranquillizer

Find the synonyms of the following words (From Question no. 88 to 97)

88. Acclaimed
a. Favour

89. Apprehended
a. Understood

90. Conceal
a. Show
91.Adorn
a. Trust
92.Ingenuous
a. Prepare
93. Waive
a. Admit

b. Intensify

b. Arrested c. Feared
b. Hide c. Cancel
b. Writer c¢. Suspect
b. Wily c. Honest
b. adorn c. Relax

Find the plural form (From Question no. 94 to 97)

94 Knife

a. Knifes
95.Loaf

a. Loafs
96. Louse

a. Louses
97. Grief

a. Griefess

b. Knives c. Knifess
b. Loofs c. Loaffs
b. Lousen c. Lice

b. Greefs c. Griefs

c¢. Highly praised

d. Magnify
d. Questioned
d. Excuse

d. Beautify
d. Sly

d. Restrict

d. None of these
d. Loaves
d. None of these

d. None of these

Fill the correct words from the options given (From question no. 98 to 100)

08. When the Head Master entered the class, a student

a. was writing

99. The train had left before I ...........

a. reached

100. Truth and Honesty

a. 1S

b. is writing c. wrote

the station.
b. reach

the best policy
b. are c. have
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c. reaches

on the black board
d. writes

d. was reaching

d. None of these
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